PDEs expressing the 4-index Q-functions

This appendix contains a list of PDEs, expressing all the 4-index Q-functions
that were not elements of the basis for I'(J, 0(26))) as a linear combination
of basis elements. The exceptions are Q1112 and (J1111, which have not been

given since they would require the calculation of C55 and Csg respectively.

The PDEs are ordered in decreasing weight (as indicated by the number in
brackets).
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(-12)
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(-13)

(-13)
(-14)

(-14)

(-14)

Qe666 = —3p55 + 446

Q5666 = —2045

Que66 = 61066 — 2044 — 3 Q5566

Qa566 = 2A1056 + 2036

Q5556 = 4Map56 + 4936

Quaa66 = 419016 + Aaps5 + 935 + 626 — Qusse + 43

Qs555 = 164055 + 4035 + 24026 — 6Qus56 + 16A3

Quaas6 = §Aapas + 20025 — 5031 — §Qus55

Q3666 = 2Ma9a5 — 3Qusss

Q2666 = —3Qua55 — Q3566 — 3 M Q5566 + 4P66 3

Qua46 = 6Xapas — 2024 — 2X] P66
— Quass + 3MQs566 — 3Q3566 + 49663

Q3166 = 4936 1 — 5 Q3566

Quaas5 = 636 As — 20567 + 8563 — 3Q2566 — 5 Q3556

Q2466 = 816 — P33 + 2X2 — 3 Q2456 — Q3456 + 4Aap26 + 2A4 035

Q3555 = 24016 — 83z + 16A4035 — 6Q3456

Qua1a = —12016 + 933 + 6X2 + 12Q3456 + 12055 A3 + 4pagA]
— 160463 — 3p550] + 12A4026 — 184035 — 6Q2556

Q2555 = 2915 — 823 + 16925 s — 6Q2456

Q3146 = 6915 — 4023 + 4p25 A1 + S50\
+ 204503 — $Quss5 M — 2Q2456

Q3455 = =425\ + $93u 0 — 5045A] + 3 Quss5 4 + 2Q2456

Q1e66 = —3M4Q3566 + Q3366 — 3 Q3445

Q2446 = 5914 — 2022 + SP20 M — 206603 + Q3366 + Qs566A3
— § Q5566 0] + 204aX3 — $MaQuass — 3M4Q3566 — & Q3445

Q2455 = 914 — 2022 + F924 M — 3066 MA3 — TQ3366 — Q5566 A3
+ 2Q3566AF + 6966 2 — 20443 + S AaQuass + 3 MaQ3566
+ %Q3445



(-15)

(-15)
(-15)

(-16)

(-16)

(-16)

(-17)

(-17)

(-17)

(-17)
(-18)

(-18)

(-18)

(-19)

(-19)

Q1566 = — 5 Q2445 — $Q2455M + 302366 — 5023066 — 3926836
— 203623 + Sps6A2
Q3356 = — 5 Q2445 + 30363 + 356 A2 — 2 Qas66 A — 5 Q2366
Q3444 = —3Qoua5 + 4p36A] — SQs556 4 + 2363 + FPs6A2
— 3Qas66 1 — Q2366
(3316 = —2Q1466 + 4A1 — Q1556 — Q2266 + 16016 A1 + 3035A3 — P55A2
+ 20263 — 2Q2356
Q3355 = 8Q1466 — 8A1 + 6Q1556 — 320161 + 4353
— 2Q2356
Q2444 = +2X4 A2 + 10A1 + 36016 + 203503 + 2205502 — Q34564
— 2Qa556 M1 — Tp2cA3 — 6pac A2 + P33 A4 + 6Aap3456
— 12X403456 — 12M4035046 — 12X4036 045 + 4026 A7 — 6p35A]
— 9Q1466 — IQ1556 + 5 Q2266 + 3Q2356
Q1456 = =213 — PasA2 + 2025026 + P22056 + 4015A1 — Q2346
— 15 Qus55A3 — $02256 + 02523 + P45 AaAs + 3P34As
Q1555 = 4913 + 60152 + 3Q2256 — 8p15\1 + 6Q2346 + 3Qus553
— 6253 — 2045 123 — 83473
Q2355 = —4p13 — 4pas A2 — 2Q2256 + 815 1 — 2Q2346
+ 4pa5A3 + 403473
Q3345 = —2p2573 + 393473 — 2045 MA3 + 204502 + Q2256 + §Qus55A3
Qa6 = —6p12 + 6066 A1 + 3 Q3566 A — Q1455 + 8p1a s — Q35663
— Qo345 — Q3314 — Q3366 1 + 3 Q34451
Q2246 = 2pasr2 — 4pee A1 — 2066\ s A2 + 5 Q356643 + Q3366 M4
— Q3145M — Q356603 + 2024A3 + S Qs566A2 + Quass
Q2255 = —8p12 — 8pasra + 16p6s 1 + 2Zp14hs + BpesAada — 202345
— 2Qs3566 03 — 5Q3366 M 1 3 Q34454 + 3Q3566A] + 5 Quas5As
+ T A A305566 — 2AA3055066 — 3 MA3P%6 — SP66A3 + S p21A3
+ 42315 + 4219035 + 425031 — 3Qs566 A2 — 2Q1455
Q1366 = —15Q2245 — Q23414 — 15Q2566A3 — TQ2366 M + 55 Q24554
+ 55Q2566 0] + 256 A1 — 5056 M A2 + 15036 A4 A3
+ 2p36A2 — TQ3556\3
Q3336 = —2Q2245 + 2Q2341 — £Qa566 A3 + 5 Q2366 4 + 15 Q2455 M
+ 3 Qa566A7 + BseAa — LpseAi — 2ps6Aae
— Bos6AaAs + Q35563



(-19)

(-20)

(-20)
(-20)

(-21)

(-21)
(-21)

(-22)

(-22)

(-22)

(-22)

Q1445

Q2244

Q2336

Q3335

Q1256

Q1355 =

Q3334

Q1345

Q2226

Q2235

Q2334

= —3Q2245 — Q23414 — 3Q2566 A3 — 3Q2366 A + 8Ps6A1 + 3P36A2
+ $Q2566A] + 3Q2455M1 — 2056 M A2 + 3036 A3 — 3 Q35563
= +2X3A2 + 28A4 A1 + 2055 A4 A2 — 635 A4 A3 + 3333
— 244601 + 112016007 — 44p16A3 + 280551 + 9352
+20Q1356 — 6Q1444 + 10Q 1266 — 22Q 1466 1 + Q22664
+2Q2356 A1 + 2Q3456 A3 — 22Q1556 A1 — Q255623 — 6262
= 8p16A3 — 20551 + 2035 A2 — 2Q1356 — 2Q1266
= =320\t + 24pa6M1 — 128016042 + 560163 — 320551
= 30Q1356 + 8Q1444 — 12Q1266 + 24Q1466 1 + 24Q 1556 \4
+ 4352
= —3Q2236 — Q1346 — 15Qu555A2 + 3 Pas a2 + 31523
+ $03aX2 — 2045\
2Q2236 + Q1346 + TQus55A2 — Q2335 — PasAad2 + P15A3
= —3Q2236 — 3Q1316 + 2 Qus55\2 + 2Qa335 — PasAada + 9p15)3
+ 12034 A2 — 8pas A1
= 50660 — P11+ 129147] + F Pec A — 55Q3566 A3
— $Q3344 M1 — 3Q1255 + H 1443 — PasA1 — Q1246
+ 2Qs566M° — = Q3366M° — Q336603 + £ Q3a45A3
— 2Qa315M — 2120 + 2 Qaaa5M”
= —6p11 + ZQ3566A2 + $Quass A2 + 6Qs566 M + Z 14N>
— Y ossAad — B Q566 ad3 — 01224 + 402422 — 10066 A0
+ 120143 + 6041 M1 — 2066A3A2 — 6Q1246 + 2 Q34454
— $Qs300 M1 — 2Q3366M° + 3Q336603 — SQ31a573 — 2 Q2345M
+ 2Qs566 " + 3 Q5566 Aa N
= —2p11 — Q3506 2 — 4Qs566 01 — 22 p140a” + B pggAah
+ 22 Q3566 A3 + Sp12A4 + 10066 A0 — Q1255 + 391473
— 10p44M1 + 2Q1246 — 1= Q34450 + 2Q3310 01 + 2 Q3366 Ma°
— 3Q3366)3 + 2Q315)3 + 2Qo3a5M1 — 1= Q3566M4°
= —4dp11 — Qsse6r2 + 2Qs566 01 — 22 p1a0” — ZpgeAah
+ £ Q3566 A3 + Sp120a + Q1255 + 301473 + 4paals
— A Q3115”4 2Qs304 M + £ Qs306M° + 2Q3366M3

1 4 4 3
— 5Q3445A3 + Q23454 — = Q35664
3 5 15



(-23)

(-23)

(-23)

(-24)
(-24)

(-24)

(-25)

(-25)

(-25)

Q1344 =

Q2225 =

Q2234 =

Q1336 =

Q3333 =

Q2224 =

Q1236 =

Q1335 =

Q2333 =

60361 + 236 M2 — 5056 M A2 + Zpse Al — 3pseAs Ao
+ BossAa" A3 + p36A3° + 2Qas66 A3 — SQ3556 N3 — 2Q1246
+ 1005600 + 55Q@2566 A" + 2 Q241573 — 3 Q23663

— 3Qa366M” — 2Q2314 M — 5Q2245M + 5 Q2445M°

240360 — B 36 a2 + Lose i Aa + Zpse AaA1 — TpseAshe
+3Qs556 02 — 3363 + 2 Qasee A3 — 3Q3556 A1 A3

+ Lo36Aa* A3 — 6Q1246 + 2005600 — 2Qas66 0" + 5 Q24453
— 2Q2115M” — 3Qa2306M” — 2 Q236603 — 2 Q2314 \

— 3Qas66 A2 + 2Q2245 M4

43601 + L p3shide + SpseAa’Ae — B psehad + SpseAshe
— B o36Ma" A3 — 2036037 — Q2566 M3 + 5 Q3556 M43
+2Q1246 — 55 Q2566 0" — Q24453 + 2 Q23663 — 15 Q24454
+ 2Q2366M° + £Qa31a M + Q204501 — 3Q3556)2

©35A1 — 2026 A1 + 4pac Ao — 3955 0 +4p16A2 — Q1166
—256p16M0" — 50p35 A1 + 1601604 A3 — T2p55 M1 — 3223\
+ 4p33Aa + 48046 Aa A1 — 64X4* A + 6Q1166 — 36Q 1266\

+ 720460 — T2Q1356 M — 540550 + 16Q 1444\ + 48Q1556 A4
+ 24Q146603 + 12Q1244 + 36026 M1 + 48Q1a66 01> + 24Q1556A3
6X2% — 6Q1244 — 3p26A3” — 4004600 + 933 A2 + 18Xz

+ 48X A1 + 19201604° — 203537 + 3Qa3s6A3 + 24Q1266 M4

— 24056\ + 48Q1356 M — 12Q1440 X1 — 1201602 — 36Q1556 4
— 15Q1466A3 + 36035 A1 — 36Q1466 1" + 3Q3456 A2 + 5 Q22663
— 15Q1556A3 + 2 Qas56 A2 + 300550 + 5Apss Aad1 — 24016A4 )3
+ 2p46A3A2 + 355 302 — 40p46 A4 A1

2015A2 + 3034M1 — 3P40 — P25 A1 + 3 Pas e\

— 1Qu156 — 15Qu555M1

415X + 503aA1 — 204500 — 2025 A1 — 2 Pa5 AN

— Q1156 + §Qus55M1

4341 + 4pasAa — 6pas Ao — 2025 A1 — 2045 A4\

+ 3Q1156 + 3 Q5551



(-26)

(-26)

(-26)

(-26)

(-27)

(-27)

(-27)

(-28)

Q1235 = 3066 A3M1 + 8pesAado — 392a 1 — 8pasro — 5 Q1155
— $Qs566 M1 + Q3566 M2 — 2Qs56600 + Sp14M2
— 2Q3366A2 — 2Q3566M1 + 3 Q34452 — £ Quass A1

Q1226 = $014MX3 + 12966 A3A1 — 6066 A4 A0 + 29241 + 20440
+ Q5566 M1 — 15 Q3366 M3 + 2 Q345 M3 + 2 Q356647 A3
— $Q3566 M2 + Q556600 + 501402 — 201203 — Q334403
+ 3 Quass M1 + 3Qs366A2 + 5 Q3566 A1 — § Q344502 — Q1146
— 2Qs50603” — £Q234503

Q2233 = — 22014 A3 — 2066 A3 A1 + 4pssAado — 392401 — Apaso
+ Q1155 + 5Qs566M4A1 + + Q3366 403 — Q3445 M4 \3
— 2Q3566M1° A3 — 2Qs566 402 + Sp1422 — Bp1ida + 2193
+ Q334423 + 5Quass A1 + 5Q3366 2 — 2Q3566A1 — 3 Q34452
+2Q1146 + $Q350603° + £Qa3u5A3

Q1334 = —2066 A1 M0 — 2024 A1 + 6paao + 4p14A2 — Q1146
— Q356601 + 2 Q55660

Q1225 = — 13 036X X2 + B3 AaAs” + 2056 a0 + EpseAs A — Spseho’
+ 1Qas66Mah2 — 5 Q2aa5 A3 — 55 Qasee 1’ A3 — 2Qas366 M As
— Q1145 + 3Qs556 M1 — Qo366 A2 — 2Q2344A3 + Q2445 N2
+ 3Q221503 — 3Qa55603° — Q2s66M1 + 15 Q2566\3”
+ 2056 AaA3A2 + 109360

Q1231 = 3036A3A2 + 3056 M40 + 1 Q2566 102 — Q1145 — 3 Q35561
— 3Qa366 A2 + 2 Qoaa5 A2 + 2036 M1 + 2Qas66 M1 — SpseAe”
+ 5936 A0

Q2223 = — B p36A302 — L has” + 6ps6Maro — 2 pse Az
+ 2056 A3 A2 — 2Q2145 M3 — 5Q2566 M A3 + SQaze6 A1 A3
+3Q1145 — 2Q3556M1 + 3Q2366 A2 + Q231423 + 2Qa566A3”
+ 2Q2245)3 + 8p36Aad1 + 3Q355603° — 3Qa2566M1 — 10p36 0

Q1224 = 1224 A3\1 — 3Q14a4)3 — 8pasAsA1 + 48p16M17 A3 + 16016A4 X2
+ 3035 AaA1 — 2026 A1 A1 + 355 A4 A0 — 4pasAado + 12055 A3 A1
— 3Q1466A2 + 6Q1266A3 + 6A2A1 — 9Q1556 A1 A3 — 9Q1466 A4 A3
— 24p163° + 3p33 A1 + 1593500 + 12Q1356A3 — 100260
—4p16A1 — Q1155 — 3Q1556 A2



(-28)

(-29)
(-29)
(-30)

(-30)

(-30)

(-31)

(-31)

Q2222 = +6Q2266 A2 + 16AsA3A1 + 42035 \a A1 + 12033 42 — 30935 A0
— T2p46 X0 — 48p16 A4A2 — 12Q1556 A4 A3 + T2055M4° A1
— 16926 32 — 28026 A4 A1 — 12Q1466 A1 A3 — 48464 A1
— 12035A3A2 — 80016 M4 A3 — 12Q1244 M4 + 6Q1144 — 3p335”
+ 6403 A1 + 2560160 + 305507 + 8Aao® 4 36Q 1266 4>
— 12055A3M1 + 12Q2356 A2 — 48Q1a66A1" — 16Q1444 04"
+ 72Q1356M° — 48Q1556M4° — 6Qas36 A1 + 1204602 — 2X3% A2
— 12Q1266M\3 + 4o\ + 52016A3% + 18331 + 5455 Aado
—24Q1356 A3 + 20026 A0 — 240161 + 4Q1444 A3 + 12Q3456 M1
Q1136 = —4p25M0 + 2945 MaX0 + 201501 + 503400 — $ Q5550
Q1333 = 4p13A2 — 120250 — 4pas A1 Ao + 4151 + 8psaro + Qus55N0
Qui26 = 12p1aMA2 + Spge Ao — 4P A3 Ao + 5 Q566 A4 A0
+ Q3566 M1 + 2 Qsaas a2 + 2 Qaz660° N2 — 2Qs566 A3\
+ $Q3aa5M1 + 301471 — 21222 + 3Quass Ao — Q3344 M2
— 2Q3566 M0 + §Q3366 M1 — 2Q2345X2 — 75 Q3366 Aa A2
Q1135 = B pesAsro — L 2o — 3Qss66 100 + 5 Q3566 41
+ 3p1aA1 + $Q3aa501 — 2Quus5M0 — SQ356600 — 2 Q3366 A1
Q233 = — T2 p1aXah2 — peeAa i + L pesA3Ao — 2 p2aNo + R P1aM
+ £ Qaze6 A2 — $Q3566 MM — 2 Qa5 M2 — E Q356600 A2
+ 2Qa315M2 — 201103 + E P12X2 — 202001 — $Q3a45M1
+ 2Qs3566 32 + 3Quazs M0 + Q331402 — 2Q3566 0
— 2Qs366A\1 + 3 Q5566 A1 00
Q1125 = 2036 A3A1 + H 36 AaA3h2 — Q2366 A s A2 + £ Q2566 A3\
— 3Qs556 302 — 15Q2566 M A2 — 15 Q2445 X2 + 2Q3556 M0
+ 1Q22a5M2 + 256 AaAa” — Qazse A1 — Qaseeho — 2Q23a4h2
+ Zps6 o1 — Spsehe”
Q1223 = Q211501 — 2p36)2° — Q256617 A2 + 1 Q366N N2
+ 1Q3556A3A2 + 15 Q2566 A3 A2 — 15036 A3 A2 + 15 Q22452
+ $Q2366 A1 + 6956 A3 M0 — Q355600 — 35 Q2445 4\
+ 5 Q2566 A M1 — 2Q2566 A0 + 2 Qo314 2 — F Pre A2\
+ 8p36 A4 X0 — P36 A3 AT + 556 A



(-31)  Quizs = TA1M1p2566 + 4036 100 — 2Qa366A1 — 5 P56 2A1 + 2Q2566 A0
+ 3936 A3 A1 — 3 A 1025066 + § Q2445M1 — 3Q3556\0
— A A1926¢56

(-32)  Qui21 = 2\1” + pashsA — 6Qrag6 ad2 — 6Q1556 N2 + 603510
+ Loss Ao A + 8Aadao A1 — 16p16X3A2 + 3201604 A2 — dp16)0
+ 3035 A3A1 — 6pag Ao A1 — 4pagAado + 3Q2556 00 + 8p16Aad
— Q1556 A1 — Q2356 A1 — Q3456 0 + 2A2A0 + 4Q1266\2
+ 8Q1356A2 — 3 Q2266 1 + 3p33A0 — Qra66A1 — 2Q1444 A2

(-32) Q1222 = 4\1” — 1826 A3\ — 6Q1a66 A1 A2 — 6Q1556 A2 + 9P55 A2\
+ 1200001 — 120160322 + 3201604 A2 + 8p16 A\
+64016M4° A3 — 4p16AaXs” + 18Q1356 A a3 + 9Q1266 M1 A3
— 2404630 + 18055300 + 16A4* A3 A1 — 4Q14a0 s A3
— 12Qua66 M A3 — 12Q1556 A" A3 + 6033 Aa M1 — 12046 30
+ 1855 aA3A1 — 3Q2s56 0 — 16016A0 + 8A3* A1 — 6Q1556A3°
— 3Q1244A3 — 6Q1a66A3° — 6Q1556 A1 + 6Q2356A1 + 6Q3456 0
+ 820 + 3Q1266 A2 — 2Q 144422 + 6Q1356 A2 + 3Q2266 A1
+12p33M0 — 6Q1466 A1 + 935 3A1

(-34)  Qi116 = —4pesA2ro — 2Qs566 3 M1 + 5 Q566 4M0 — 75 Q3366 A4 A1
+ 1Qsua5 M + Q3566 MM — 2Qazas M + e’
+ 2Qsu1500 — 15Q33141 — Sp12M1 + Spradah

(-34) Q1133 = 8pes A2 Ao + Q3566 A3 A1 — 2 Q3566 A4 X0 + 75 Q3366 A4 A1
- %Q3566>\42)\1 + 2Q2345A1 + L p1400 — 8p2200 — 5 Q3366 N0
— B os6M1% — 12014 M1 — 2Q3aa500 + Q331101 + 212\
— EQsaa5 11

(-35) Q1115 = —3Q2a4500 + 22036 M A3 M1 + 15056 A4 A1 + 15 Q2566 31
— 2 Q25660 M — 55Q2145 M1 — 3Q2366 A1 — 3Q3556 31
+ 2Qas66 M0 + 25036 A3 A0 + 3956 200 — Q2344 M1
— B Qasa6 00 + SpseM1” — 2p36 21 + 15 Qazas A

(-35) Q1123 = Q24450 + P36 aAsA1 + 2056 Aad2 1 + Q2566 A3 M1
+ 3 Qo25M1 — £Qa566 M7 M — £Qoaa5 M1 + Q2566 A1\
+2036A300 — 2056 20 + 2 QozaaM + 2Q22a5M1 — Lpsehs
— 2osgho



(-36) Q1114 = 6026 300 — 3ps5A2X0 — dpaghado + 48p16 4 A1 — 24p16 31
+ 3Q2266 A0 + 12Q1356 A1 + I35 A3A0 + 3Q1466 M0 + 3Q1556 Ao
+6Q1266 A1 — 3Q1444A1 — 6Q2356 A0 — 9Q1466 A1 A1
+ 12002 — 8pus 1 + 1205501 ° — 6Xogpazes + 12X 022066
+ 2409267 — 9Q1556 Aa A1

(-36)  Quiz2 = —2Q1241)2 + DX\ % — 8Q155600 + 3Q2266 N0 + 12Q1356 M1
— 8paA1” — 8Quae6M0 + 1205507 — 2L Q1444\1 + 6Q1266 M1
+ 6Qa356 00 + P33AsA1 + 21 Ao — Sp16Aads A2 + ZAT AN
+ 2AA2X0 + 6A3A2A1 + 9pssAadt — S Quasarsds
+ 8p33 M0 + 222 016M0% A2 — 6p2sAa i — 8Q1s56 A4 A2
— 8Qua66 M N2 + 6Q1266 M2 — 4Q1a66 A3 N2 + 12Q1356 A4\
—4Q1556 A3 2 — 8pasAaAa A1 + 12055 A4 A0 A1 — 10Q1556 A a1
— 10Q1466 A1 — L p16A3A1 — 8pasAato + 182 p16A4 " Ay
— 12026300 + 12055 A2 A0 + 16016 A1 A0

(-39)  Qui13 = —2p36M17 — P3sA2o — 3 Q3556 30 + 5 Q2566A3 M0
— 3Qa366 M0 — 3Q2445 M0 — 656 100 — Q256617 N
+ 2Q2245M0 + JP36 M X300 + 3 P56 AaA2 N0

(-40)  Qi112 = 8A3A1” + 43000 + 32040 Ao + 6933 A300 — 68016A3 00
+ 6035 A2 X0 + 6401604 A1 + 128016047 Ao — 12046401
+ 42055 \1 M0 — 36046 M1 X0 + 18055 A4 A17 — dpagAado
+ 18Q1356 A1 A — 4Q1444 M1 A1 — 12Q1556M4° A1 — 6Q1466A3M1
— 24Q1556 Mo A1 — 24Q 1466 A0 A1 + 9Q1266 A1 A1 — 6Q 1556 A3 A1
— 12Q1466 1”1 — 4p16Aa Az A1 + 16A4* A% + 30Q1356 0
— 8Q1444)0 + 15Q1266 M0 — 3Q1244A1 — 8 A1’ + 120351



